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FOREWORD
This report presents Students’ Items Response Analysis (SIRA) on Form Two
Chinese Language National Assessment which was conducted in November, 2022.
This report aims to provide feedback to all educational stakeholders on the factors
that contributed to the students’ performance in Chinese Languge.

The Form Two National Assessment (FTNA) is a formative evaluation which
intends to monitor students’ learning to provide feedback that teachers, students
and other educational stakeholders can use to improve teaching and learning. The
report highlights the factors that made the students to score either low or high
marks when attempting the questions. The factors for weak performance were lack
of knowledge on vocabulary, principles and grammatical rules. Other reasons were
inability to understand the requirement of the questions and inability to express
themselves in Chinese. Conversely, the analysis indicates that the students who
scored high marks had ability to identify the requirement of the questions, enough
vocabulary, adequate knowledge of grammatical rules and their uses.

The report will help students to identify strengths and weaknesses for them to
improve learning before sitting for their Certificate of Secondary Education
Examination (CSEE). It will also help teachers to identify the challenging areas
and take appropriate measures during teaching and learning.

The National Examinations Council of Tanzania (NECTA) expects that the
feedback provided in this report will shed light on the challenges for which
education stakeholders should take proper measures to improve teaching and
learning the Chinese Language subject. Consequently, students will acquire
knowledge, skills and competence indicated in the syllabus for better performance
in future assessments and examinations.

The Council appreciates the contribution of all those who prepared this report.

e

Dr. Said Ally Mohamed
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report intended to present the analysis on the performance of the
students who sat for the Form Two National Assessment (FTNA) in Chinese
Language subject in 2022. The assessment was set in conformity with the
Chinese Language syllabus of 2015.

The assessment paper had three sections; section A, Vocabulary and
Expressions, section B Language use and section C compositions. Section A
had fifteen (15) marks, section B had seventy (70) marks and section C had
fifteen (15) marks, hence making a total of 100 marks.

The analysis indicates the performance of the students in each item by
indicating their weaknesses and strengths in various areas while answering
the questions. It highlights on the requirement of each question by indicating
the expected responses, how the student answered the questions. The report
also includes sample extracts from the scripts of the students’ responses in
order to provide a general overview of how the students responded in relation
to the demands of each question. Furthermore, the report shows the analysis
of the students’ performance per topic, conclusion and recommendations. A
summary of the students’ performance per topic has been shown in
Appendices I.

The data analysis reveals that, the general performance of the students was
good because a total of 1,561 students sat for the Form Two National
Assessment in November, 2022, among them 1,402 (89.8%) students passed
the assessment while 159 (10.2%) students failed. The performance of
students in each grade is shown in Table 1.

The performance of the students in each grade for 2021 and 2022 is shown in
Table 1.

Table 1: Performance of Students in each Grade

Year Sat Grades

A B C D F
2021 1,386 306 218 394 322 146
2022 1,561 128 128 518 628 159




Table 1 shows that, in 2022 few students scored A when compared to 2021.
Also, many students (628) scored grade D in 2022 assessment compared to
322 students in 2021.

The students’ performance was categorized into three (3) categories namely,
good, average and weak. The performance was regarded as weak if the
percentage of the students score ranged from 0 to 29 marks, as average if it
ranged from 30 to 64 and as good if it ranged from 65 to 100 marks.

It is hoped that the analysis done will help Chinese teachers and all
educational stake holders to improve the teaching and learning strategies of
Chinese Language and therefore improve the performance.

20 ANALYSIS OF THE STUDENTS’ PERFORMANCE IN EACH
QUESTION

2.1 Section A: Vocabulary Use

This section comprised two questions; question 1 and question 2. The
students were required to answer all the questions. Question 1 carried
10 marks and question 2 had 5 marks, thus making a total of 15 marks.

2.1.1 Question 1: Multiple Choice Items

In this question, the students were given ten multiple choice
items. These items were divided into part | and part Il. In Part I,
the students were given a passage to read and answer the
questions that followed. The passage was about personal
introduction of Mingming. It was set from the topic of job,
introducing oneself and friends.

In part 11, the students were given sentences with blanks which
the students had to fill in by choosing the correct word. The
questions were set from different topics. The students were
required to choose the correct answers. The questions tested the
students’ ability to express themselves in the Chinese language.
Part I of the question was as follows:



- W#EAL, BETIRE, ABFREE FRAEBAKTE KT,
3 (=) £y

Zhe shi wd de péngyour i jiko Mingming @ shi Tansingniyirén. T3 jid
BRAKE N A, & 90 4% BEREA, & F
zhi Dudduomd+  t8 jlonidn shi sin sul. T zi Dudduomd zhimgxué xuéxi hin

£ 330 AL T Z 5 REBSD ¢4 #R
yir i shi ernidnji de xufshing. T2 you Nt gb péngyour  san péshi ) nidn
B RLZFANF A A AN A, Z ARk
ji dexuéshng  lidng ge shi sin nidn ji dexuéshing hé yi gb shi yI nidnji de
BHF £, A ARZ Su0F L AR - Eaw
xuéshéng - T4 hén xfhuan xuéxi hinyi -

4 B R Bk ¥ RE,

Qunifn 1 qb fe Beijing hé Xingging winr. Ti méitiin gén Xidohong

¥ RBET AT H £ % KL R EE R &,
Xiboming hé Mingméi ql tishigudn kin zhongwén shi- 1@ hén xihuan zud yishéng
Mok HREEENE F P L B, kAR I M E4
hé Wehi, T4 jii ybu sn kdu rén>  you bibac didic hé @B @ méiyow mi
oA REA Z 0 A, K EE BH A B ETH
ma. Td de bdba shi lhoshi+ i di shi xuéshéng> Mingming hén xihuan 1
BoRHEERAEN, A A F £, N9 R Ak #
de jidrén.
# £A.

The data analysis indicates that 1,561 (100%) students
attempted the question, out of whom 897 (57.5%) students
scored from 7 to 10 marks showing good performance, 650
(41.6%) students scored from 3 to 6 marks which is an average
performance, and 14 (0.9%) students scored from 0 to 2 marks
which is a weak performance. The general performance in this
guestion was good, since, 1547 (99.1%) students scored 30% or
above. Figure 1 summarizes the students’ performance in
question 1.
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Figure 1: The Percentages of the Students’ Performance in
question 1

The analysis indicates that, 897 (57.5%) students who had good
performance had scores that ranged from 7 to 10 marks. These
students comprehended the information in the given passage as
well as the requirement of the questions. For example, item 1
asked BABA & K AEZIL?  (Where is Mingming’s home?). The
question required students to identify the place where Mingming
comes from. The key word was #F)L (where), they identified
the correct answer which was % % 1, (Dodoma).

In item 2, the students were asked #8944 /L% 7? (How old
Mingming is?). In this item, the students were required to
understand and differentiate Chinese numbers. The students
who got this item right managed to identify the correct answer
which was + = (13) because they distinguished between the age
and number of class level.

In item 3, the students were asked # 8 %4 %FJ)L? (Where did
Mingming go last year) and they were required to name a place
where Mingming went last year. The alternatives were % % &,
(Dodoma), ## (Hongkong), 324 B ¥ (Tanzania) and +¥
(China). These alternatives confused the students because
% % %, (Dodoma) is located in 324 B & (Tanzania) and#-#
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(Hongkong) is located in # & (China). The students who scored
full mark managed to identify the correct answer because they
understood the passage which stated the place where Mingming
went last year.

In item 4, the students were asked BA 8 & JUSF 2849 52 4 7
(Mingming is a student of which class?). The students who got
this item right had sufficient knowledge of Chinese number and
had ability to differentiate between age and numbers of class
level mentioned in the text. They also understood the use of an
interrogative particle JL.

Item 5 asked #4849 & &M H 42 24?2 (What is the job of
Mingming’s Father?). In this question the students who chose
the correct answer had sufficient knowledge on the uses of
pronoun 4 (She) found in the passage and the noun &f B
(Mingming). They also understood the use of interrogative
pronoun 4.

In part I, the students were given sentences with blanks which
the students had to fill in with the correct responses. The
students who performed well in this question chose the correct
answers because they had enough vocabulary and expressions.

Item 1 was set from the topic of Hobby. The question required
the students to choose the correct verb which match with the
word & zk (football). According to the alternatives given, the
correct answer was ¥ (to kick) because ¥ means to play by
using foot. Other distracters were 47 (to play by using hand), &
(to be) and 4 (a measure word for long and narrow objects)
which did not match with the word (football).

In item 2, the question was set from the topic of Colour and Size,
and it required the students to identify possessive particle from
the given alternatives. The correct answer was 47 (possession
particle), other distracters were 4% (to get), 47 (to play by using
hands) and *f (an interjection). However, some students chose
other distracters because they have the similar pronunciation



with the correct answer. Therefore, the students who scored full
mark differentiated the uses of all alternatives given

Item 3 was set from the topic of Fashion and entertainment. The
question required students to identify the correct vocabulary

which goes with the word #% (with) of which the answer was —

## (same as). Other distracters were # (to have), 4 (also), i&
# (also have). The students who understood well the uses of
this vocabulary differentiated the uses of these words, hence
chose the correct answer.

Item 4 was set from the topic of Hobby. The item required a
student to understand the uses of an adjective % (good) + verb
% (to watch) which make an adjective 4F#& (nice). Also the
word #% (movie) acts as an indicator of the verb & (watch).
Therefore, the students performed well in this item because they
knew that the adjective ¥4 (nice) matches with the word %%
(movie). Apart from that, other distracters were =~ (no), JL (to
meet), & (not) and these words can not be placed after the
adjective % (good).

Item 5 was set from the topic of Hobby. The item required the
students to identify the use of an adverb #F (all together) which
describes the quantity. Therefore, the students who scored full
mark in this item managed to identify the uses of an adverb #f
(all together) in relation to the structure of the sentence: Subject
#/~A (every one), verb &3k (to like) and object %% (movie).
Thus, the adverb #¢ (all together) had to be placed between the
subject &/~ A (everyone) and the verb &3k (to like).

Item 6 was set from the topic of Housing. The question tested
the student’s ability to identify an adverb which correlate with
the adjective F:% (neat). In this item, the correct answer was 4k
(very) which was the adverb from the given alternatives.
Therefore, the students who scored full mark in this item were
able to identify the adverb. Other distracters were, 4 (also), 49
(possession particle), 45 (to get) which did not correlate with
the adjective F 4 (neat). Extract 1.1 is a sample of the
student’s correct responses to question 1.
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Mingming de  jia zai nder 7

L o8A 8 &2 E o4 oL 2 (B )

jing Pruddudmia Ténsdngniva Niinggang
A K B $%% ¢ BERE D F i

Mingming Jinnidn H  suile ?

2 ® 8w 4% L FT? (0

shi 53 shi &y shisin * shi vi
A teg B + C ~+ = o +-—
Mingming ginidn g nier le 7
3. w1 88 k& xAILT? (B O

Duddudmi Xianggang Tans@ngniva zhdnggud

A ZEE B F OB C WEREE D @+ E

Mingming shi i nidn i de =xudshing 7
4. w3 W R UHF @& o8y F £ 2 ( D)
¥i mian ji s&n nian fi &r nidn ji
A SR B EAe4 < N m
Mingming dec  bi ba rud shénme gOngzud 7 .
s. Wl W % oBE s H4a T 7 (A

130shi » xuésheng LbshT visheng
A IF B 5 % ok A D EA
BBy
HRARRL . ik &-2E 6UTE B 40 35 A5 ah T,
Wamen si difin kidishi ) zd i
L RN wm s s ( c PR 3 - 3%
da sy o tido
A 47 B & C 9B D &
WS xf huap ni 37 fu yitnsd:
2. HEB R BRR (B ) AE.
ijé de d& dui
AT B & C 47 DT -
V:’ié gEn péng you xf huan jing jb-
3.0 8 R W A (A ) T % oal.
y;’y:’il?g won vE haivdu
A A 2 N o B ) D
Z'_hésiﬂ ¥i g& hao de didn ying-
4. RE~A A C B ) 8 ok w
i Kan JEan i
A TR B & <c & D iR
Maigérén xibuan Zhong gud yinyud
5. &FAA C By B v o@m oEFs,
dud didaz de dé
A F B # c #% D #F
W& jid ydu wil géfdng jisn - didu EAnjing:
6. #H K A A |, w0 Oy F g,
y& de fn dé
AL B & < iR D iF

Extract 1.1: A sample of the student’s correct responses
question 1.
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In Extract 1.1, the student chose the correct answers in all items.

Furthermore, the data analysis indicates that 650 (41.6%)
students had an average performance as they scored from 2 to 3
marks. These students had partial knowledge of reading for
comprehension. They also had partial knowledge pertaining to
the uses of some vocabulary and expressions. They managed to
choose the correct answers in some items but failed in others.
For example, in part I, most of students chose incorrect answers
in items 1 and 2. For example, in item 1, the correct answer was
% % 2, (Dodoma) but some of the students chose 32 % & I
(Tanzania) since % % & (Dodoma) is located in 32 & B &
(Tanzania). Other picked alternatives by guessing because they
did not understand the passage.

In item 2, the correct answer was + = (13) but the students
confused numbers, therefore, they chose incorrect age. Others
chose +— (Eleven), others chose + = (twelve) and others
chose +w (fourteen). This shows that they did not understand
the passage and failed to differentiate age and numbers which
were mentioned at class level.

In part Il, most of students scored O in item 5. The question
required the students to identify the use of the adverb #¢ (all
together) which describe the number of people mentioned. Most
of the students who scored 0 chose #j (possession particle)
without knowing that it could not be used before a verb. Few
students chose % (many) without knowing that it is an adjective
which cannot be used after a noun. Others chose # (to get)
which is a main verb and cannot be followed by another main
verb. This implied that these students had insufficient
knowledge pertaining the uses of these vocabulary. Extract 1.2
is a sample of responses from a student who performed
averagely in question 1.



naer 7

Mingming de jid zai
o8 8 Ay R & WL 2 (B )
iTng DBusdutimi Tansiingnivh Mignggang
A FE B %%5 ¢ WEEE D & H

Mingming Jinnidn H  suile 7

2 MW A F L FT? (L)
shi 51 shif er shisan shf i
A e B = c +E= D -
Mingiiing ghinidn gi nier le ? -
3. M. E] kF HHEJLT? (£ )
Duddudbm Xidnggang Tans3ngniva zhonggud
A % %3 B &K # C WEREE D FoE
Mingming shi f{ nidn j{ de xudsheng ?
4. WA W R L 4% £ & 2 (L)
T nian ji sin nian ji si nddn 3 &r nién j{
A SRR B Z & C v 5 4n D = S 4
Mingming de b%z sz il shénme gdngrud 7 e
s. W OB W EE M 2 I %2 (A
1aosht - xuéshing Liishi visheng
A B 9P B ¥ % C I D B
% =355
LA, AL Y18 T A AS R A0 HL T,
Wamen st didn  k3ishi it g
1. E oo g N oE ¢ C 2 o,
da shi T tiace
A AT B R c ¥ D &
Wo kY huan nf 37 o yénse- -
2. KRB RRAE 2 Y ARéE.
d& de - da dui
A B & o dr D #F -
WO gin péng you «d hnan jing ja-
3. & R o &2  C oy Ak ¥ el
y:’ya:::g Ml vé hdiydu
A —F B N C A D iR
Zl'_aésh‘z ¥f g& hio de  dian ying-
4. ZE—~A HF D D@ v @
b kan il méi
A A B & < R Dok
Liﬁ’:i g&rén =i haan Zhong gud vinyud:
5. #HFAPAAL C > Bz ¥ B F&,
dus ddu de dé
A B A C 8% D fE
W& ji8 yOu wi  géfing jifn - don Banfing-
6. &K E A E A M, By Fop,
ye de hén de
A& B &% C AR D iF

Extract 1.2: A sample of responses from a student with
average performance in question 1.
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In Extract 1.2, the student wrote correct answers in items 1, 2 in
part | and item 1 in part Il, but wrote incorrect responses to the
rest of the items.

Moreover, the data analysis indicates that 14 (0.9%) students
had weak performance as they score from 0 to 1 mark. In part I,
the students failed because they did not understand the passage
and the requirement of the questions hence ended up choosing
the answers by guessing. For example, in item 1 the students
who scored zero chose 324 R I (Tanzania) because % % 4
(Dodoma) is located in Tanzania. Others chose A% (Hongkong)
because it is a place in China and was mentioned in the passage.

In item 2, the students who scored 0 failed to choose the answer
+ = (13) because they could not differentiate between age and
number of classes as mentioned in the passage.

In item 3, the students who scored 0 failed to choose the correct
answer # # (Hongkong). Most of them chose 32 & & &
(Tanzania) because was mentioned in the passage. Additionally,
others chose ¥ & (China) because %% (Hongkong) is in ¥
(China).

In item 4, the students who scored 0 did not know the correct
answer —<4% (grade two). For example, some students chose
w25 (grade four) where as some of them chose =4 4% (grade
three) and others chose —# 4% (grade one), which were all
incorrect answers. These students confused between
Mingming’s grade with her friends’ grades.

In tem 5, the students who scored 0 failed to choose the correct
answer % Jf (teacher). Most of them chose % 4 (student)
because they had inadequate knowledge of professions. The
choice of # V% (lawyer) and & # (doctor) shows that the
students did not comprehend the passage.

In part 1, the students with weak performance failed to fill the
blanks with appropriate vocabulary and expressions. This
proved that they had insufficient knowledge of Chinese
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vocabulary, structure especially in grammar patterns. For
example, in item 2, the correct answer was #j (possession
particle). Most of students who scored 0 chose the alternative ¥
(to get), while others chose 47 (to play by using hands) and few
of them chose # (an interjection). This proves that they failed
to differentiate these words because they are pronounced in the
same way.

In item 3, the students were required to identify the word which
correlates with the structure A 3% B where by in this structure
the correct response was —#f (same as) that complete the
structure A sk B —#f. Most of students chose #. (also) because
it has syntactical properties like subject + 4. + verb but in this
structure it could be correct if there were a single subject and
not separated by the conjunction % (with). Others chose & (to
have) which is not correct in this structure because the verb &
(to have) cannot be placed before other verbs. Those who chose
it did not understand the uses of the verb phrase i£# (also have),
which shows the continuity of the previous verb or the presence
of a noun.

In item 4, the students were required to identify the verb that
correlates with an adjective 4f to form an adjectival phrase 4 %&
(beautiful) which was the correct answer. The students failed

this item because they did not understand the correlation of #F

(good) and the verb & (to watch) in relation to the object %%/
(movie).

In item 5, the students were required to identify the use of
adverb #¢ (all together) which describes the number of people
mentioned. However, most of students chose # (possession
particle) which does not relate with the demand of the given
sentence structure. Extract 1.3 is a sample of the students’
incorrect responses to question 1.
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Minsining de  jia zii naer 7

1. 8 W 8 O O4E OHRIL 2 (< )

Hng Duddudma Tansangniva Xignggang
A T B % & i ¢ . EERE D FH

Mingming Fnnian  J§  suile 7

vE W A& L ¥ T 2 (A )

2.
shi &1 shi &r shisan - shi w1
A -ted B = < + = n
Mingming gimige gl nder le 7
3. # A7 EHH LWL T 7?7 (b D “l
Praadudms Hidnpoang TansAngriva zhonggud
A FE2H B & # C iZBEAEIE D * E

Mingming shi  ji nidn  j de xugshéng 7
2

4. 9 8f & SLSE 4 oAy A & 7 (o 3

¥T nian ji sin nan if 1 mign it & nkdn §f

A g SR o -3 C w3 SF oim | 5 R Sy o3

Mingming de ba ba zud shénme gdongzud P

5. 81 8 8y EE o a7 (g
laoshi - xuésheng Lfrshy +Isheng
A HE B & lof= LT D OB
N

HIRRE . A A0S T AT AL,

Wimen st didn ki shi w1t giG-
1. SR ew B R4l ¢ c b = .
da shi 54 ’ tido
A 4T B E ol | ST
W kY huan nf »T fu Y G- -
2.0 KRB RERM (D > .
dag de ) da i
A FF B Ay c 47 o F -
Wa pin péng vou =x! huan jing jo-
3. & m oM &K  C 3 &k ¥ AL
y;’yéi::g 1 yé& haiydu
A —AE B C A | S O
?jl’_:ésiﬁ ¥¥ g& hio de dian ying-
4. EE—A A D Y as e w
biz kan Hao e
A T B & C R DGR
MEi g2 rén xf huan Zhong gud vinyus:
5. &AL ( C ) B v B H A
dud ddu e [=133
A F B #  C 4% D
Wa jia you wa g fdng FEE don fing-
RS 11 ganfing
6. &K K H EHE A&  ® o, 4 < Ny F
¥ e hin e
A4 B ¢ < iR D 47

Extract 1.3: A sample of the student’s incorrect responses to
question 1.

In Extract 1.3, the student chose incorrect answers in all items.
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2.1.2 Question 2: Matching Items

This question had two columns A and B. In Column A, the
students were given time written in numerals and in Column B
time written in Chinese characters with pinyin. Therefore, the
students were supposed to match time from column A
(numerical time) with the correct answer from column B (time
in terms of Chinese characters with pinyin). The question was
set from the topic of Time. The aim of the question was to
assess the students’ ability to ask about time. The question was
as follows:

il PC B RE A 42 Ho B A, W do B 8 B A 3% & 69 ak

A FE BAE -« '
1. 08:20 shi yi dian shi ¥7 fén -
— U A N
2, 07:10 a S T
jiti didn 5% shiwa fén -
3. 05:05 e
B L & wWtHHa 4 .
4. 12:30
wil didan wi f&n -
5. 11:11 cC A B AR .
6. 09:45 shi er dian sAnshi fén -

D +ft= &£ =+ & .
bd didn &r shi fén -
E AN & =1 &5 .

wiidian ling f&n -

san didn si shi wa fén -
G = F T AOA .
g ¥ dian shi fén -
H -t & -+ 4 .

The data analysis shows that 1,561 (100%) students attempted
this question, out of whom 1,327 (85.0%) scored 4 to 5 marks
which is considered as good performance, 142 (9.1%) students
scored from 2 to 3 marks regarded as an average performance,
while 92 (5.9%) students scored from 0 to 1 marks which is a
weak performance. The students’ general performance in this
question was good, since 1,469 (94.1%) students scored 30% or
above. Figure 2 summarises the students’ performance in
question 2.

13



Scores
mO-1
2-3
w45

Figure 2: The Percentages of the Students’ Performance in
guestion 2

The data analysis shows that 1,327 (85.0%) students had good
performance as they scored from 4 to 5 marks. These students
identified numbers in Chinese characters as well as Chinese way
of telling time. Therefore, they matched correctly the items
given. Extract 2.1 is a sample of the students’ good responses to
question 2.

A¥ |1 | 2 3 4 5 6
B | E | H C D A | B

Extract 2.1: A sample of the student’s correct responses to
question 2.

In Extract 2.1, the student matched correctly all the items.

Further analysis indicates that 142 (9.1%) students had an
average performance as they scored from 2 to 3 marks. In this
question, most of students did not understand numbers in
Chinese language, thus they ended up guessing answers. For
example, in item 2, the time was 07:10 and some students
matched it with B /L. w9 & 4 (9:45) which was incorrect.
According to the question, the correct answer was -t .=+ 4~
(07:10). This indicates that students did not master well the

topic of time.
14



In addition to that, in item 6, the students were given 09:45 and
they matched it with the response G = & w+ £ 4 (03:45)
which was wrong. The correct answer was 7u.&. w9+ &4~ (9:45)
for this case the students seem to read time in Kiswahili
language instead of reading it in Chinese language. Extract 2.2
is a sample of the student’s average responses to question 2.

AE:
A 1 2 3 4 5 6
BE | E | P C | b A H

Extract 2.2: A sample of responses from a student with an
average performance in question 2.

Extract 2.2 indicates that the student failed to match correctly
item 2 and 6 but matched correctly item 3, 4 and 5.

Moreover, the students’ analysis shows that 92 (5.9%) students
performed weakly in this question as they scored from 0 to 1
mark. The students who failed this question did not master the
topic of time in the Chinese language. Some students failed to
recognise the Chinese characters given in list B, hence they
chose answers by guessing. For example, in item 2, the students
were given 07:10 in list A and were required to find the correct
time which matched it from list B. The correct answer was H, &
14> (07:10) but the students’ answer was B, 7u& w9+ &4~
(09:45). This indicates that the students had insufficient
knowledge on Chinese numbers, hence they guessed the answer.
However, others chose F, &% %4 which was wrong because
this is not a proper way of telling time in Chinese.

In item 3, the students were given 05:05 in list A, which they
were required to match with its correspondence answer which
was C, & % A4 (05:05) from list B. Most of students who
failed this item, chose G 03:45 and others choose A, +—%+
—4 (11:10) which did not match with the question. Therefore,
this indicates that the students did not understand the Chinese
numbers.
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Further analysis shows that the students who scored 0 in item 4
failed to match 12:30 with D + =% =4 (12:30). Most of
students chose B 7u.& w9+ 4> (09:45) whereas others chose
F, &.%%4. All these were incorrect answers. This shows that
the students failed to tell time in Chinese and did not master
well numbers in the Chinese language.

Lastly, in item 5, the time given was 11:11 and the correct
answer was A +—.&-+—4% (11:11). The students who scored
0 in this item, some of them chose D + =% =+4 (12:30) and
others chose H & .&.+4> (7:10) which did not match with the
question. Extract 2.3 is a sample of the student’s incorrect
responses to question 2.

A%
AR |1 2 3 4 5 6
B2 | E| B q E D C

Extract 2.3: A sample of the student’s incorrect responses to
guestion 2.

In Extract 2.3, the student failed to match correctly in all items.

2.2 Section B: Language Use
In this section, the students were given 7 questions, namely question 3,
4,5, 6,7, 8and 9, and they were required to answer all of them. Each

question carried 10 marks, thus making a total of 70 marks.

2.2.1 Question 3: True and False Items

In this question, the students were given a passage set from the
topic of Job. They were required to read the passage and answer
the questions by judging whether a statement is true or false by
putting a tick against the correct answer and a cross against an
incorrect statement. The question tested the students’ ability to
talk about jobs. The passage was:
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Z. MEEL. BETHRE LA L B R A0, BEEAKRY
7.
Wo baba shi vi ming yishéng, 12 zAi yiyuin gongzud  Ta meitian dou hén ming:
AEER-LE A, RAER I, REXAR I,
Wo de péng you jiao Milk  Mili de baba shi yiweihugjia MAT hén xihuan 12 de
AWM R ER. BRNEER L AKX AWM A ER R &
biba hua dehudér  Wo de mdma hé M3l de mama dou zai yi gé xuéxido gongzudr  Ta
BLEEHEL, ANBE LT OB A A-NER LA, £
men lid shi jioshi Mali de mima shi xuéxito de xidozhing- W0 de g€ ge zii Shang
NmA#, BRAOBE L2 4 R k. A0FEE L
hii gongzud, 13 shi yi g& gongchéngshi- Ta méinidn chinjié de shihou song wd hén dud
BIf, REA-ALIEFEES ATORE L ARS

liwl: Wohén xihuan wo de gége

TL%U &“f&é‘gk ﬁéﬁ%%e

The data analysis indicates that 1,561 (100%) attempted this
question, out of whom 433 (27.7%) scored from 8 to 10 marks,
which is considered good performance, 785 (50.3%) students
scored from 4 to 6 marks regarded as an average performance,
while 343 (22.0%) students scored from O to 2 marks which is
considered a weak performance. The students’ general
performance in this question was good, since 1,218 (78.0%)
students scored 30% or above. Figure 3 summarizes the
students’ performance in question 3.

100 -
o0 -
8O -
_J," 1
60 50.3
so -
40 -
30 - 22.0

20
lo _J
O 1 T T

0o-2 4 -6 E-10
Scores

——
2!_)’

Percentage of the Students

Figure 3: The Percentages of the Students’ Performance t0
question 3

The analysis shows that 433 (27.7%) students had good
performance as their scores ranged from 8 to 10 marks. This

17



indicates that they understood the passage and were able to use
nouns and pronouns as appeared in the text. For example, in

item 1, the students were asked 337 49 &84 X ke (Marys’

father is busy every day). It was False because in the passage the
statement stated that X &E& 2 — % EA, #fEER TEERAR
f&t= (My father is a doctor, works at hospital, he is busy every
day) so, it was the writer’s father who was busy and not Marys’
father.

Furthermore, in item 3, the question was &434%24& K (My
mother is headmistress). According to the passage the statement
is false since the passage states that 3% ws 694545 2 F AR 49 K
(Mary’s mother is the headmistress) and not the writer’s mother.
The students who scored full mark were able to identify who
was the headmistress. Extract 3.1 is a sample of the student’s
good response to question 3.

Liri Mili bo xihuan ta de baba hua de huder

Plde: B A ER B EE & 6 &)L, (x)

Mali de baba méitian dou hén mang:

. BWeEEHX R B (X)

Wo mama hé Ma li de mama zai yi qi gongzud

) ABBADLHHEE E—& T #, (V)

W0 mama shi xidozhdng-

A BBA K K (X)
Gé ge méige chinjié song wo i wir
4. FEEN AT & KALY. (v
Miali de g&ge shi yi g& gongchéngshi-
5. BW A FFA A I A N, (X)
Extract 3.1: A sample of the student’s correct responses to
question 3.

In Extract 3.1 the student responded well in all items.
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Further data analysis reveals that 785 (50.3%) students had an
average performance as they scored from 4 to 6 marks. These
students scored full marks in some items but failed in others.
The analysis shows that they partially comprehended the
passage. Hence, failed to understand the keywords of the
question. For example, item 1 stated that 33w #9&-&4& R ARkt
(Marys’ father is busy every day). The students who scored 0
failed to fetch information showing the person who was busy.

In item 4, the students who scored O did not realize that the noun
<3 (brother) which is used in the question, was represented by
a pronoun (#) in the passage. Moreover, item 5 stated that 7w
S Z — A T AU (Marys® brother is an engineer).
According to the passage, the statement was false because the
passage stated, & #9FF & LT, wR—ATAH (My
brother works in Shanghai, he is an engineer). Therefore,
because of insufficient knowledge on the uses of pronouns # &9
(My), 4t (he) and noun 3 # (Mary), the students failed to
respond to it correctly. Extract 3.2 is a sample of responses from
a student with an average performance in question 3.

Liri Mili bl xihvan t3 de baba huad de huaer

Blde: B RER G EE B H &)L, (x)

Mi i de baba méitian dou hén mang:

B EEHER AR I (V)

—

Womama hé Mili de mama zai yi qf gongzud

BB f BW BB E—L T, (V)

[

W& mama shi xidozhang:

3. RBBHEKR K. (v)

Gé ge méigé chiinjié song wo Ii wir

4. FFEN AT E ALY (V)

Mali de g€ ge shi yi g¢ gdngchéngshr

5. B FF R A T A JF, (X))

Extract 3.2: A sample of responses from a student with an average
performance in question 3.
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In Extract 3.2, the student wrote correct answer in item 2, 4 and
5 but incorrect answer in items 1 and 3.

Moreover, the data analysis indicates that 343 (22.0%) students
had weak performance as they scored from 0 to 2 marks. These
students failed to comprehend the text and they did not
understand the requirements of each question. Thus, they could
not judge the statements as being true or false. For example,
item 1 required the students to identify who was busy between
#&# (My Father) writer’s farther and #m #) &% (Marys’
father). The students in this category failed to respond correctly
to the question due to the lack of understanding of the passage.

In tem 2, the students were not familiar with the uses of
expression A#= B + —s2 (together) that was the keyword of

the question, where by in the statement given A represents
(writter’s mother) and B represents (Marys’ mother). They
failed to identify the people who were Marys’ mother and my
mother. Furthermore, in item 3, the students failed to understand
both the passage and the requirement of the question. According
to the passage, Marys’ mother was identified as a headmistress.
On the contrary, some students wrote #4%4% (my mother)
which was wrong because #4%4% (my mother) works together
with 3 @ ¢ 45 4% (Marys’ mother) but she was not a
headmistress.

Likewise, in item 4, the students did not know the person who
gave him/her a gift. They also failed to understand that the noun
<= (brother) in the question and the pronoun 4 (he) in the
passage was referring to the same person.

Finally, in item 5, the students who scored O failed to identify
who was an engineer between 7 #9-5< (Marys’ brother) and
&89 (my mother) according to the passage. This shows
that the students did not master well the nouns, pronouns and
professions names. Extract 3.3 is a sample of the student’s
incorrect responses to question 3.
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2.2.2

Lira Ma i bu xihuan ta de ba ba hui de huaer-

Flde: BW R ER R EE 3 6 )L, (x)

Ma li de ba ba meitian dou hén mdng-

M oA EE F R AR (™

W6 mama hé Mali de mama zai yi qi gongzuod-

& DA Ao HHE 69 454 £ —A& T . (X))

W6 mama shi xidozhang-

£ 4598 2 & K . (~)
Ge ge méige chinjié song wo I wir
F HFA AT E K AL ¢ XD

Mali de g ge shi yi g& gdngchéngshi-

W 4 FF R — T 42 T, ()

Extract 3.3: A sample of the student’s incorrect responses to
question 3.

In Extract 3.3, the student wrote incorrect answers in all items.

Question 4: Re-arranging the Jumbled Words into Sentences

This question comprised 5 items, containing jumbled words
which the students were required to re-arrange to form
meaningful sentences. The words derived from the topic of
Colour and Size. The question tested student’s ability to apply
Chinese language structure and recognise different colours and
size. The question was:
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W, EERA,
Lird shi TansAngniya

Bl (DR DRELE @‘EZ @’}éf
5% 00O®

yin s& Tansangniya si zhong de gué gf you

L (DHE QPiRE QU @QuEHK OF

zhe tai shuiing dale xié
D @A @ @KT @#
......................................................... -] *
méi le kix zi mima  xin

. DET @ #F BH @H

dn s& de vi fu wh shi de

C(hEesn QR @A @O B

.

hufyudn xidnzal piaoliang yuéldiyue

CDEBE QAL Bk E @MLAE

n

A total of 1,561 (100%) students attempted the question, out of
whom 160 (10.2%) scored from 8 to 10 marks which is a good
performance, 363 (23.3%) students scored from 4 to 6 marks
which is an average performance, and 1,028 (66.5%) students
scored from 0 to 2 marks which is a weak performance. The
students’ general performance in this question was average,
since, 523 (33.5 %) students scored 30% or above. Figure 4
summarizes the students’ performance in question 4.

100
S0
20
T
(=19
=10
=4
30
20
1

(o]

L=T

102

o -2 4 - & 8 -10
Scores

Percentage of the Candidates

Figure 4: The Percentages of the Students’ Performance in
question 4
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Furthermore, the data analysis denotes that 363 (23.3%)
students had an average performance as they scored from 4 to 6
marks. These students had partial knowledge of Chinese
grammar as well as the meaning of the words given. They wrote
correct answers in some items but failed in others. For example,
most of the students failed to re-arrange words correctly in items
2 and 3.

In item 2, the students were required to identify the structure
p 7 and the proper use of the measure word 2t (measure
word of things in pair) to be placed before a noun and after
demonstrative pronoun (iX+x+N). The students who wrote iX X
T i # K were unaware of the word which had to come first and
which one had to come last.

Additionally, in item 3, the students did not know the meaning
of the word #7 (new) and its position in the sentence. They re-
arranged by guessing. For example, one of them instead of
writing %44 3% 7 #7#%F (Mother bought a new trouser), he/she
wrote &45#7 3£ 7 #%-F which was incorrect because #7 is an
adjective which is always used together with a noun. Extract 4.1
is sample from a student with an average performance in
question 4.
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., EFRT.
Lird shi Tansingniya tén

flde: (DA BELE O @ A
5% O00®

yan sé Tansaogniya sizhdng ~ degudgf you
L DAL @iﬂ%fm OLKi @éﬁ[ﬂzﬁ Ok
....... EJONON N O N—

zhé thi shudng da le Xié
»DE @k @R @OAT ©f
........ Q..@..&?,@.@.................,..........o *
mial le ki 7l mama xin
1 DET @ #F QBB @H
......... @OV ..
lin sé de y1 fu shi
s DL @RR @& @ # @é‘J
............ DO s
hudyudn xidnzdi pidoliang yud i yud
s R @Ak @2k @HALE
......... .0

Extract 4.1: A sample of responses from a student with an average
performance in question 4.

In Extract 4.1, the student wrote correct answer in item 1, 4 and
5 but incorrect answer in item 2 and 3.

Moreover, the data analysis indicates that 1,028 (66.5%)
students had weak performance as they scored from 0 to 2
marks. These students had insufficient knowledge of Chinese
grammar, especially Chinese syntax, the meaning of vocabulary
given as well as skills of arranging Chinese jumbled words.
Some students re-arranged by guessing. For example, in item 1,
the students who scored 0 had insufficient knowledge of the
Chinese grammar # 4) (have phrase) a sentence with a verb &

(to have). Some students wrote i & # 32 & & T 49 [E 3 va FF

These students did not know the meaning of the words given.
They also did not know the place of the measure word # (kind)
which is always used before a noun and after a number.
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In item 2, some students scored O because they did not master
the structure X...... 7. For instances, some students wrote iX X
X 7 K # the sentence which was not correct and has no
meaning, because the elements were to be properly arranged in
the sentences. For instance, the adjective was to be placed
between K and 7. They also failed to realise that the word #t

(Shoe) had to be used together with a measure word X (pair).

Furthermore, few of students wrote X #£iX K X 7 which was
wrong. In Chinese, the demonstrative pronoun should be put
before a noun, therefore the correct answer was X # K X7
(This pair of shoes is too big).

In item 3, the students who scored 0 were not familiar with the
basic structure of the Chinese sentence: S+V+ 7 +O. Some
students wrote %54%#%F#7 % 7 (Mother trouser new bought). This
was due to the fact that they had insufficient knowledge on the

use of particle 7. They also did not know that a particle 7 is

sometimes used with a verb (V+T7) to get the structure S+V+ |
+0O. Therefore, the correct answer was %345 % 7 #7#%F (Mother
bought new a trouser).

In item 4, the students who scored 0 had insufficient knowledge
on the use of the grammar pattern Z....... #9. Some of them did
not understand the meaning of the given words, as a result they
re-arranged the words randomly. Other students left the question
unanswered. Others wrote & 2 &AR&)E & 49 (I am cloth my
blue) which was wrong. This shows that they did not know that
the word &R (clothes) is not a person. Some students wrote #,
A HRIRIE &4 (1 am my cloth blue) which was also wrong.
These students failed to realise that before 49 there must be a
personal pronoun or noun but not a verb.

In item 5, the students who scored 0 mark had insufficient
knowledge of grammatical pattern #%& sk A% (more and more)
which is often accompanied by an adjective. They also did not
notice that an adverb 3L.# (now) had to be placed before or after
a noun or a personal pronoun. Some of them failed to use the
adjective /£ % (beautiful) because they did not know that it had
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to be used with the expression A&k #& (more and more). For
instance, a few of the students wrote & = 7t B 3042 Ah & A,
because they did not realise that the adjective 2% (beautiful)
can not be used as a subject. Others wrote & A% kAL 7 I
(The garden is becoming more and more beautiful now), which
was an incorrect answer. They failed to realize that an adverb L
# (now) had to be placed before or after a noun f& & (garden).
The correct answer was I 4t B A&k AL% 5% (Now the garden
is becoming more and more beautiful). Extract 4.2 is a sample
of the student’s incorrect responses to question 4.

vg, ERRA .
Lird Tansangniya €
;DR @;é‘:“;é;%“it GR @ W
2% @OO®
yan sé Tansingniva si zhing - de guod gf you
L. (Wame Qriarxr @ w & @%Elzﬁ' OF:)
........... @EEE i
zhe tai shufing da le xié
2 DE @k @@ @KT ®@%
............... QOOO....
mii e ki zi mima Xin
3. (DRT7 @ #®F @BE @
............ @@ODE e
l4n sé de ¥ fu shi
4. () E & @m& @ & OF 3 @é‘;
"""" 1;;;;;;;{'“"';;g;{;;["”';,;;;il;}lg yublyue
s DA E @ars @EE @&k
............... @OT@. s
Extract 4.2: A sample of the student’s incorrect responses to
question 4.

In Extract 4.2, a sample of responses from the student who re-
arranged all sentence incorrectly.

The data analysis shows that a total of 160 (10.2%) students
performed well in this question, as they scored from 8 to 10
marks. Those who got full marks had sufficient knowledge of
Chinese language and mastered well the Chinese grammar and
structure. For instance, in item 1, the students who got it right
knew that the noun 32 & E & (Tanzania) is followed by a

26



possessive modal particle #9 accompanied by a noun &7 (flag).
They also identified the verb # (to have) which comes after the
subject. Finally, they knew that the noun #i & (Colour) had to
be accompanied by the number with a measure word, thus they
ended up writing the correct answer 32 3 2. I ¢4 E 384 w4~ &,
(The National flag of Tanzania has four colours).

Further analysis shows that in item 2, the students were required
to use the structure X...... T (very) and the proper use of the
measure word 2% (measure word of things in pair). The students
who scored full mark knew that the measure word *X (measure
word of things in pair) had to be placed before a noun and after
a demonstrative pronoun (iX + X +N). These students had
sufficient knowledge of meaning of the given words, as they
managed to re-arrange this sentence correctly. They wrote iX 2%
# KR KXT (This pair of shoe is very big).

Furthermore, in item 3, the students who got this item right were
aware of the structure S+V+O. They knew that in the subject
position there was a noun 4443 (mother) which had to be
followed by a verb % (buy). They also knew that an object of
the sentence was ## ¥ (new trouser). Thus they wrote the
correct answer 4545 % 7 ##%-F (Mother bought a new trouser).

Moreover, in item 4, the students had sufficient knowledge on
the grammar pattern 2 ....... #9. This particle was used to
emphasize on the colour of the clothes and the owner of the
clothes. For instance, the students who re-arranged correctly as
F A RIRAZ I & 49 (My clothes are blue in colour) mastered well
the use of the grammar pattern Z....... #9 that emphasizes on the
colour of the clothes and its owner 1 &, 49 &k 2 349 (The blue
clothes are mine).

Finally, in item 5, the students who scored full mark were aware
of the uses of Chinese grammar A&k #% (more and more). They
also knew that the word #L# (now) can be placed before or
after a noun or personal pronoun. For instance, some students
wrote a correct answer such as ft B I Ak AMZEZE (The
garden is becoming more and more beautiful now) and others
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2.2.3

wrote JLE4 E AL RALZE % (Now the garden is becoming more
and more beautiful). This implies that the students had sufficient
knowledge of Chinese sentence structures. Extract 4.3 is a
sample of the student’s good responses to question 4.

w, &R,

Lird T ansangmyd

48] 4+ @1& @i‘a e:,_]l?. @:}k @f\

55 QOO® |
yénse Tansangniya si zhdng ’ de gud gi ydu

1.%%@ %ﬁ%mz wé% @&AM K

""" m -tg{'”'é;i,};ggg" C;&; i;"'é’;;e

2. (k@ L AT #

ORISR ONNONN I O : *
mii le kiy 2 mima xin

3. (WET @ ®F @ﬁ%ﬁ% :#fr

IS O C: N C N

hudyudn xianzat plaoliang yuldi yug

s O E @ase QiR @ARAE
@ | ® ®)

Extract 4.3: A sample of the student’s correct responses to
question 4.

In Extract 4.3, the student re-arranged all the jumbled words
into correct sentences.

Question 5: Completing the Sentences by Using the Words
Given in the List

The question had 5 items where each of them carried 2 marks
thereby making a total of 10 marks. The students were required
to choose a letter of the given word and fill the blanks provided.
The question was set from the topic of Jobs and Hobby and
tested the students’ ability to state his/her hobbies and talk about
jobs. The question was as follows:
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£, RAEMAEEKRNRS. F-ALLY
shi qd xidng kan d ba
AX B+ CH® D& E#H Fwn
NI shi ke xuéjia ?
LHRA#FE(F )
Zhing i bir xidng Z00)id
L kWA R ()R
W6 baba yvinddngyndn:
L &aEE( JED R
Ta ndr 43 langid-
4 (Y RILA R
Li Xidoléng qd yindongehing:
sEMEC )V EER A,
Mali 73 jia Zhdnggud dianying'
6 BRER( )T ELHY.

The data analysis indicates that 1,561 (100%) students
attempted the question, out of whom 235 (15.1%) students
scored from 8 to 10 marks that shows good performance, 653
(41.8%) students scored from 4 to 6 marks which is an average
performance, and 673 (43.1%) students scored from 0 to 2
marks which is a weak performance. The general performance
in this question was average, since 888 (56.9%) students scored
30% or above. Figure 5 summarizes the students’ performance
in question 5.

Scores
mo-2

4-6
mg-10

Figure 5: The Percentages of the Students’ Performance in
Question 5
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Furthermore, the data analysis shows that 653 (41.8%) students
had an average performance as they scored from 4 to 6 marks.
These students were able to answer correctly in some items but
failed in others. Also they had partial knowledge on Chinese
grammar and language use. Most of students in this category
failed in item 3, 4 and 5. For example, in item 3, some students
opted a verb to be ;& (is) because they did not know that the
word #FJ)L (where) is normally used to ask about places.

In item 3, the students failed to differentiate between the
meaning of the word =3 (do exercise) and that of the word =
zh i (Athlete), they opted E # (do) without knowing that you
can not put a verb # (do) before the person object iz ) i
(Athlete) but you can use # (do) before i3 (do exercise). Few
of them chose B % (go) which was also wrong. These students
failed to differentiate the meaning of these two words hence
failed to choose the correct answer.

In item 4, most of students failed to choose the correct answer
because they could not identify which verb had to be filled in
the blank. Therefore, they ended up choosing the alternatives
randomly.

In item 5, the students failed to differentiate between the word
iz 7 (do exercise) and =) # (playground). Most of them
chose # (do) which was wrong because the two main verbs
(do) and % (go) can not be used together and be followed by a
name of place. The correct answer was C #2 (want). Extract 5.1
is a sample of responses from a student who performed
averagely in this question.
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&

LENAERBRGRT ., F-ALLE.

shi qu xidng kan zud ba
A = B * cC % D & E # F =&
]\F shi kexuejla ?
LR ARFER (F ) ?
Zhang Ii bu xiing Zudjia
2 kWA B (C) %K
Wo baba yundongyudn-
3‘?‘5&%%(/3()"’)59/

nir da langid

4, 4&( B )L 4T B

LiXiaolong gt yundongching-
s.EDLAE (DY FEH B
Mali zai jia 7hdnggud didnying:

6 BREER(E) * B LY.

Extract 5.1: A sample of responses from a student with an average
performance in question 5.

In Extract 5.1, the student wrote correct answers in items 3 and
4 but incorrect answers in items 2, 5 and 6.

Furthermore, the data analysis indicates that 673 (43.1%)
students had weak performance as they scored from 0 to 2
marks. These students had insufficient knowledge of Chinese
grammar and language use. They chose words randomly in
order to fill in the blanks which made them to write incorrect
answers. For example, in item 2, the question required students
to identify a verb that had to be used together with a noun 4%
(author). Some students opted D & (watch) which was wrong
because a verb & (watch) cannot be used before a word 1%
(Author). Others chose A 5 (is) which was incorrect because it
is a verb to be.

In item 3, the students were required to identify the meaning of
the word iZ %) i (an athlete) as well as the use of the verb to be
& (is). Due to insufficient knowledge about the meaning and
uses of the given words and sentence, some students opted D &
(watch) which was wrong since the two words do not correlate.
Other students chose B Z (go) which can be used with &3}

(Exercise) but not with i) i (an athlete) because athlete refers
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to a person. Few students chose #& (want) because they did not
know that it can be used with &3} (exercise) and not with iZ 3}
5 (Athlete). Other students left the question unanswered.

In item 4, the question required the students to recognize the
use of an adverb of place %)L (where), but most of them failed
to choose the correct answer. They did not understand that the
word #FJ)L (where) is always used with a verb 2 referring to a
place. Also the insufficient knowledge of Chinese words made
some students chose A & (is) which was wrong. 5 (is) is a verb
which can not be used with an interrogative pronoun #FJL
(where). They did not also realise that 22 (want) can be followed
by the main verb but not an adverb of place. Some of them
opted E 4 (do) which cannot be used with *R)L (where). Thus,
the correct answer for this item was B % (go).

In item 5, most of the students failed to choose the correct
answer #2 (want) because they did not know that 22 (want) is an
auxiliary verb accompanied with a main verb to show
somebody’s wishes. For instance, some students chose E % (do)
and A & (is) while others opted D & (watch). All these
alternatives were wrong because they were main verbs and the
sentence already had the main verb % (go).

In item 6, the students were required to choose a main verb &
(watch) as the correct answer. Most of the students did not know
that the word # E %% (Chinese movie) is a noun functioning as
an object and that it needed to be accompanied with the verb &
(watch). They failed to differentiate between the noun phrase &
#,%5 (Chinese Movie) and a noun # & (China). Hence some
students opted B % (go) without knowing that it is used together
with a noun of place. Others opted E # (do) because they failed
to notice that # (do) can not be used with a noun phrase ¥ & =,
#% (Chinese Movie). It can be used with other objects that can be
affected by a subject but not # & #.% (Chinese Movie). Others
opted C #2 (want) without knowing that #2& (want) is an auxiliary
verb that is always accompanied with a main verb which,
however, was not available in this question there was no main
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verb. Extract 5.2 is a sample of the student’s incorrect responses
to question 5.

. RALSENEBLEELGRT, F-ALEE.
shi qu xidng kan zud ba
A% B X C #H D & E #% F "€
Ni shi k&xuéjia ?
L#HAHAFE (F ) ?
Zhang 11 bl xidng zudjia-
ok wWAR B (B) R
WO baba yindongyudn-
3. K &EE (A) B B o
Ta nar da langic
4.t (| )IRIL AT B ER?
Li Xidolong qlt yindongchang:
5. F 0 (b)) KiEF .
Mali zai jia Zhonggué dianying:
6 BWAF( ) P HEH.

Extract 5.2: A sample of the student’s incorrect responses to
question 5.

In Extract 5.2, the student wrote incorrect answer in all items.

The data indicates that 235 (15.1%) students had good
performance as they scored from 7 to 10 marks. They knew the
meaning and the uses of the given words. For example, in item 2,
the students were required to identify the verb which is used
together with the noun 4% (Author). Most of the students
chose the correct answer # (become) because they noted
that the verb # (become) collocates with the noun 4 %
(Author). They also identified the auxiliary verb #& (want)
which is always used before the main verb.

In item 3, the students were required to fill in the blank with the
verb to be & (is) which goes together with the noun iZ 3} i
(Athlete). Most of students chose the correct answer B & (is)
because they knew that the noun iz %) 5 (an athlete) is
accompanied with the verb to be &2 (is).
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In item 4, the students identified the correct answer B 2 (going)
because they mastered well the use of an adverb of place #FJ)L
(where) which is always used with a verb 2 (going).

In item 5, the students were supposed to choose the auxiliary
verb 78 (want) and used it to fill in the blank. Those who chose
the correct answer knew that an auxiliary verb #& (want) is
always accompanied with a main verb to show somebody’s
wishes. They noted that a main verb % (going) had to be
combined together with an auxiliary verb #2 (want) to indicate
wishes. Therefore they chose the correct answer C #2 (want).

In item 6, the students were required to choose A (watch) as the
correct answer. The students who scored full mark knew that the
word + E &% (chinese movie) is an object which needed to be
accompanied with the verb & (watch). Thus they wrote the
correct answer D A& (watch). Extract 5.3 is a sample of the
student’s correct responses to question 5.

B, #AEWHABAREHNRT. F-ALEY.
shi qu xidng kan | Zud ba
AX B+ C#® DA E#% F®
Ni shi kéxuéjia ?
LhRR#AFE (F ) ?
Zhang Ii bu xidng Zuojia:
2 HRWAE (B)#%.
Wo baba yundongyudn:
. K88 (AYEH R
Ta ndr da linqid:
4. (B )L AT E KO
Li Xidol6ng qu yundongching:
s 20 AE(C) B B
Mili zai jia - Zhdnggué dianying:
6. BWAKX( D) ¥ B & ¥,

Extract 5.3: A sample of the student’s correct responses to
question 5.

In Extract 5.3, the student wrote correct answer in all items.
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2.2.4 Question 6: Completing the Sentence by Using the Words
Given in the List

The question had 5 items where each item had 2 marks, making
a total of 10 marks. The students were required to choose the
correct answers and fill in the blanks provided. The question
was set from the topic of Jobs and Hobby. The question tested
the students’ ability to understand and use Chinese vocabulary.
The question was as follows:

Ko RGEMEABARTNRT, F-HO4E,
tiAntian dihdo jiémi dianndo winggid Béijing
A RX BE¥H CcFB pel ERHK  phR
Wo qi
L&+ (F),
' Baba de sh1 fing ymyue
28BN () AR,
Nixihuan yéuxima ?
LBRER () BK A
GEge hul di :
4T eir (),
Jintian dianshi hén hdokin ‘
SAREIL( ) REE.
Wé kin didnying
6. % ( ) A8 ¥,

A total of 1,561 (100%) students attempted the question, out of
whom 584 (37.4%) scored from 7 to 10 marks showing a good
performance, 574 (36.8%) students scored from 3 to 6 marks
which is an average performance, and 403 (25.8%) students
scored from 0 to 2 marks which is a weak performance. The
general performance in this question was good, since 1,158
(74.2%) students scored 30% or above. Figure 6 summarizes the
students’ performance in question 6.

35



Scores
mo -2

4_6

mE-10

36.8%

Figure 6: The Percentages of the Students’ Performance in
Question 6

The data analysis shows that, 584 (37.4%) students had good
performance as they scored from 7 to 10 marks. These students
had sufficient knowledge of Chinese vocabulary. Thus they
managed to choose the correct answers. For example, in item 2,
the students chose the correct answer B %+ (hobby) because
they knew how to talk about someone’s hobby. They were also
familiar with the word %4% (hobby) and & & (music) which
were used in the sentences.

In item 3, the students who scored full mark understood the
meaning and uses of the words % fix (computer) and ¥ =,
(game). In item 4, the students who responded well identified
the meaning of the word 47 (play) which collocates with the
noun M3k (play). Thus, they chose alternative E F 3k (Tennis)
which was the correct answer.

In item 5, the students who scored full mark knew that the word
* B (program) goes together with the word .41 (Television) to
mean TV Program. This implies that they had sufficient
knowledge pertaining to the use of Chinese vocabulary. Thus,

this enabled them to choose the correct answer C % H
(program).

In item 6, the students who got full mark identified the uses of
the adverb X X (every day) which is used before or after a noun
or a personal pronoun and followed by a verb to show daily
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routine in doing something. Extract 6.1 is a sample of the
student’s correct responses to question 6.

. RAEMEBAREANT. F-RTHE
tiantidn athao Jiému didnndo w?angqit"l Béj jEx_g
A £F BEH C¥E DEE  ERZK  FLX
Wo qb :
L&&(F ).
Baba de shi ting yinyué
Csew (B) 2 ER
NixThuan y6uxima ?
3. &R (D)) B H?
Gege hul di
. FF LA (E ) -
Jintidn didmnshi hén h BN
s A% e (C) RV 4,
Wb kan dianying’

6. £ (N A2 #.

3

Extract 6.1: A sample of the student’s correct responses to
question 6.

In Extract 6.1, the student wrote correct answers in all items.

Further data analysis shows that 574 (36.8%) students had an
average performance. They scored from 4 to 6 marks. These
students answered correctly some items and failed in other items.
They were familiar with the uses of few vocabulary. For
example, in item 2, the students were required to express hobby
whose correct answer was alternative B % +%f (hobby). Some
students opted D %/ (computer), they did not know that it is a
machine having games (called computer games (¥ fx#2k) in
which someone can be interested in. Others opted C * H
(program) without knowing that it is a sequence of broadcasting
shows for a day, a week or a month.

In item 6, the students failed to use an adverb of time X X
(every day) because they did not know its meaning and uses in
the sentence. Some students chose wrong alternatives D =, %
(computer) and C % B (program) because they did not
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understand their meanings and their uses. Extract 6.2 is a sample
of responses from a student with an average performance.

o REEWEBRAERORT, B8
tidntiin aihdo Jiémi ~ dinno winggid Béijing
A RK BEH CHE DENE ERHE FLE
W gl
L # % (F ).
Biba de shi {ing ymyue:
2 B84 (B). R % £ .
Nixihuan yéuxima ? .
3RER (D) 8 0
Gége hui d3 ‘
4. FF 44 (A,
Tintizn dianshi hén hiokin
AR 2L (8 ) Rk H 4.
Wo kin dianying:

A (C)E R,

.

[

Extract 6.2: A sample of responses from a student with an average
performance in question 6.

In Extract 6.2, the student wrote correct answers in item 2 and 3
but incorrect answers in items 4, 5 and 6.

Furthermore, the data analysis indicates that 403 (25.8%)
students had weak performance as they scored from 0 to 2
marks. These students did not master well the vocabulary given
and their uses. For example, in item 2, the students who scored 0
did not know how to talk about someone’s hobby. Most of them
choose C " B (program) which can not be used to express
someone’s hobby. Others opted E ®zk (Tennis) because they
did not realize that ® 3k (Tennis) is a hobby like T & #&
(Listening music) which was wrong.

In item 3, the students who scored O could not identify an
answer # fix (computer) because they did not know that the
word # 3% (game) collocates with the word = f% (computer).
Some of them opted for A X X (every day) which does not refer
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to any kind of games. Others left the question unanswered and
few of them opted B % 4% (hobby) which was also wrong.

In item 4, the students were required to fill the blank using a
noun of a game which goes with a verb 47 (play). Some students
who scored zero opted D # /= (computer). They did not know
that you can not play %/ (computer). Others opted C * B
(Program) because they did not know that you can not play
program. This reveals that these students were not aware of the
use of these vocabulary items.

In item 5, the students who scored 0 did not know the meaning
of the word * B (Program). Most of the students in this
category confused this word with the words =, fx (computer) and
M zk (Tennis).

In item 6, the students who scored 0 did not know the meaning
and the use of an adverb X X (every day). Some students left
the question unanswered while others chose the answer
randomly. Some of them opted B & 4% (hobby) which is a noun
and not an adverb of time. Others opted E ® 3k (Tennis) which
was also wrong. Extract 6.3 is a sample of incorrect responses to
question 6 from a student with weak performance.

R, RAOEMFELRTHRG. ALY

tiAntidn aihdo jiémit diannio wanggid Béijing
A EE BEE WA DEE ERHK  FAR
Wo qb ‘
LAECE DS
Baba de shi fing vinyue:
1 888 (B) A ¥k,
Nixihuan véuxima ?
1 RER LA ) BR DY
GEge hut dd .
4 FELHID) .
Jintidn dianshi hén hiokan: '
5. A% R (C) RIFE,
Wo ki didnying:

6 K (B)&eH,
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2.25

Extract 6.3: A sample of the student’s incorrect responses to
question 6.

In Extract 6.3, the student wrote incorrect answer in all items.

Question 7: Writing Chinese Characters of the Given Pinyin

The students were required to write the correct Chinese
characters to fill in the blanks provided according to the given
pinyin. The question was set from the topic of Hobby. Each item
carried 2 marks which made a total of 10 marks. This question
examined the students’ ability to write Chinese characters. The
question was as follows:

t. REHITERF,
Lirg ~ Women jintian kaishi xué  xf Fiyd

Bldo: £ 107 4K F4 () () k5,

Jieji€¢ xihuan kan Zhonggus  dian  ying

LEEEL A PR () (),

Nihuishud Hin  yit  ga?
e () () B9

Tt

Wo hé biba zud g che  14i Béijing
ZAREEL () () £hT,
T3 jid 22 Ying  guér

4 BmEE () (),

Tamen gt ching chéng:
5.1 & C) ()
2%
Lind 1 2 3
HEE ! 5

xu¢  xi  didniying (Hin |yd |qi |ché | Ying | gué Chéng | chéng

F 13

The data analysis indicates that 1,561 (100%) students

attempted the question, out of whom 84 (5.4%) scored from 7 to

10 marks showing good performance, 1,336 (85.6%) students

scored from 3 to 6 marks which is an average performance, and

141 (9.0%) students scored from 0 to 2 marks which is a weak
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performance. The general performance in this question was
good, since 1,420 (91.0%) students scored 30% or above. Figure
7 summarizes the students’ performance in question 7.

5.4° _0%%
Scores
mo -2
3 -6
mT -1
85.6%0

Figure 7: The Percentages of the Students’ Performance in
question 7

The data analysis shows that 84 (5.4%) students had good
performance. These students scored from 6 to 10 marks. They
were able to write Chinese characters correctly by adhering to
rules and regulations. They also knew well the pinyin given.
This implies that they had adequate knowledge of writing
Chinese characters. For example, in items 3, 4 and 5 the
students wrote correct answers % % (cars), & (United
Kingdom) and &% (great wall), respectively. This reveals that
the students had sufficient knowledge of writing Chinese
character. Extract 7.1 is a sample of the student’s correct
responses to question 7.

S 3
Lird

1) e«

xué |xi |didn|ying |Han |yi |qi |ch& |Ying | gué | Ching | chéng

2|3 ) |33 4B \E ;
P19 ey Rt E ] ¥ IR
Extract 7.1: A sample of the student’s correct responses to
question 7.

In Extract 7.1, the student wrote correct characters in all items

Moreover, a total of 1,336 (85.6%) students performed
averagely because they scored from 3 to 6 marks. These
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students were able to write some characters correctly but failed
to write some of them. Some students either added or dropped
some Chinese strokes while others confused the pronunciation
of Chinese characters. For example, in item 3, the students were
asked to write ;%% (car) but some of them wrote 7& % the first
character 7£ means (flag). They were confused with the
pronunciation qi, since both characters have the same initials
and finals but they have different tone markers with different
characters.

In item 2, some students among those who scored O failed to
write the character & as they dropped the upper stroke heng —
which resulted into an incorrect character. Few of them failed
to differentiate between the pronunciation of the pinyin yu of

rain and yu of language, hence they wrote X instead of X%,

In item 4, the students were required to write 3= (United
Kingdom) but most of them wrote a meaningless characters %/
in which the first character % means (film). These students
failed to distinguish between the character 3 and %;. Extract 7.2
is a sample of responses to question 7 from a student with an
average performance.

.f;,] ‘J'tﬂ . ! ‘ ‘ ) 4 5

xue | xi | dian | ying !Ha‘m Eyﬂ qi |ché | Ying | gu6 Chdng | chéng

13 ey | s : . -
PP A IR

Extract 7.2: A sample of responses from a student with an average
performance in question 9.

In extract 7.2, the student wrote correct character in items 1 and
item 2 but failed in others.

The data analysis shows that 141 (9.0%) students had weak
performance as they scored from 0 to 2 marks. These students
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wrote correct answers in some items but failed in others. Some
of them were able to write correctly either one character or a
part of a character. These students had insufficient knowledge of
writing Chinese characters. They also could not observe the
rules of writing Chinese characters. Some students confused the
characters which have same pronunciation while others failed to
write some strokes and radicals correctly. For instance, in item
1, the students were required to write the pinyin dianying
(movie) in Chinese character. Some students in this category
were able to write the first part % which was not correct
because they confused the stroke | .and L. Other students wrote
incorrectly the left part of the character %% which is % and
whose components are B, & and Z. Thus, they confused the
upper part of this character as they wrote = instead of writing B

which was not correct.

In item 2, most of students skipped the first and the second part
of the question as they wrote @ (rain). These students did not
notice that they were required to write #% (language). Some
students could not write the radical 7 of the character :X. They
wrote radical 7 instead of radical 7 .

In item 3, the students who scored 0 were not able to write the
characters. Some students wrote %rz (go to eat) which they
confused with the word 4% (car). Others wrote &4 (doctor)
whose pinyin yishéng and qiché are quite different. This means
that these students were unfamiliar with these pinyin.

In item 4, some students were able to write a left part of the
character 3 E (United Kingdom) while others wrote % E
(America) instead of 3% (United Kingdom). They were
confused about the meaning of the character. For instance, some
students were confused about the pronunciation ying of right
part of the character, thus they wrote % instead of .

In tem 5, the students were required to write great wall in

Chinese character. Some students were not able to write this

character as they ended up copying a character with the same

pronunciation as the character % 3% (great wall) from the
43



2.2.6

question paper. Some students wrote 42 and few of them wrote
%% (often) all were wrong answers. Extract 7.3 is a sample of
the student’s incorrect responses to question 7.

.k%

e

ird 1 2 3 4 5
ff'l {24

xué | xi |dian | ying {Han |yi [qi |ché | Ying | gué | Ching | chéng

RN SPIE It WA Y

Extract 7.3: A sample of the student’s incorrect responses to
question 7.

In Extract 7.3, the student wrote incorrect character in all items.

Question 8: Writing the Pinyin for the Given Chinese
Characters

The question comprised 5 items which required the students to
write the correct pinyin of the given Chinese characters to fill in
the blanks provided. Each items carried 2 marks, making a total
of 10 marks. The question was set from the topic of Housing.
This question tested the students’ ability to write the pinyin with
their respective tones, initial and finals. The question was as
follows:

AL B R F AR BEE

Lird

#lde: + H Zhonggubd

T o
D B T e o
B B B e o
R - °
ST 2 |1 o

The data analysis indicates that 1,561 (100%) students
attempted the question, out of whom 135 (8.6%) scored from 7
to 10 marks showing good performance, 637 (40.8%) students
scored from 3 to 6 marks which is an average performance and
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789 (50.5%) students scored from 0 to 2 marks which is a weak
performance. The general performance in this question was
good, since 772 (49.5%) students scored 30% or above. Figure 8
summarizes the students’ performance in question 8.

Scores
mo-2

3-6
=7 -10

Figure 8: The Percentages of the Students’ Performance in
Question 8

The data analysis reveals that 637 (40.8%) students had an
average performance as they scored from 3 to 6 marks. Most of
students managed to write pinyin of characters in some items
but failed in other items. Some students were able to write
correct initials and finals but failed to mark the correct tone. For
example, in item 3, the students failed to write pinyin of the
given characters because they did not recognize them. One of
them wrote pinyin of the character 8% as kaoshi. This shows
that these students guessed the answers.

In item 4, the students were given the word + % (desk) and they
were aware with the pinyin sha of the left character, but they
failed to write pinyin zhuo because they did not recognise it.
One of them wrote shiizho instead of shiizhuo. Extract 8.1 is a
sample of responses to question 8 from a student with an
average performance.
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AN, B XEF HE HE,
Lind
#ldm: B Zhonggué
e ‘ =
1S B0y . .
2 gﬁ.‘éa.m.““ ............................... @ -
3.0 BRE.L L KeSNN o
4. PR AGTE LMD o
5. A%]E}....Ré&‘.".a..;\';‘%ﬁ..... .................. o

Extract 8.1: A sample of responses from a student with an
average performance in question 8.

In Extract 8.1, the student wrote correct characters such as
zhuozi and fangjian.

Further data analysis shows that 789 (50.5%) students
performed weakly as they scored from 0 to 2 marks. Some
students failed to write the correctly tones of the pinyin while
other students wrote wrong initial and final. Other students left
the blank space unfilled while others copied pinyin from the
question paper and wrote them as answers. For example, in item
1, one of the students wrote wrong final and tone. Some of them
wrote pinyin zhozi which was incorrect because the final u in
pinyin zho was omitted and pinyin zi was not supposed to be
marked with a tone.

Some students in this category wrote pinyin which were totally
wrong and had not any relation with the given characters. For
example in item 2, one of them wrote kému or miantiao which
was wrong as they supposed to write keting. In item 3, the
students wrote shujia which is incorrect pinyin and he/she did
not mark any tone. The correct answer was supposed to be
shuijiao. Extract 8.2 is a sample of the student’s incorrect
responses to question 8.
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N R AR BEE.
Lira
{#lde: +E Zhongguéd
TR - UL Y e
o A M ae o =
s oaege hMxa@n .
s e Némeo .
s, &, Add OGIOG .

Extract 8.2: A sample of the student’s incorrect responses to
question 8.

In Extract 8.2, the student wrote incorrect pinyin in all items.

The data analysis indicates that 135 (8.6%) students performed
well this question as they scored from 6 to 10 marks. They were
able to identify characters, write pinyin correctly and mark tone
in an appropriate position in all items. This shows that they had
sufficient knowledge about recognising characters and mastered
well the rules of writing pinyin. Extract 8.3 is sample of the
student’s correct responses to question 8.

AL B B OARIE BEE .

Ling

Pl 4w. ¥ HE Zhdnggud

oL zZhadzl e .
e O 2311, - .
3 orede. Shlgido .
4 #g. ghuzhes .

B 1H] {:c{ng jan

A

Extract 8.3: A sample of the student’s correct responses to
question 8.

In Extract 8.3, the student wrote correct answers in all items.
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2.2.7 Question 9: Jumbled Sentences

The question had 5 jumbled sentences which the students were
required to re-arrange into a meaningful paragraph. The question was
set from the topic of Food. The question tested the students’ ability to
express likes and dislikes. The question was as follows:

L. ATRATERNR, BAEX, KT —GCBRE,
Wo di di yé bi xi*huan hitixian-
A RAHFET IR G &,
W4 xihuan chi miantido -

B & &% @ &,

Wo bu xi huan hdixian:
N S : .
C AXAER & #,
W¢ jinnidn sanshi sui .

D AAF =t ¥

Women ai cht mifan

E &1 &% AR

W0 jiao Gud héi yue:

F & ™ 3 & XK,

The data analysis indicates that 1,561 (100%) students
attempted the question, out of whom 797 (51.1%) students
scored from 8 to 10 marks showing good performance, 349
(22.5%) students scored from 4 to 6 marks which is an average
performance, and 415 (26.6%) students scored from 0 to 2
marks which is a weak performance. The general performance
in this question was good, since 1146 (73.5%) students scored
30% or above. Figure 9 summarizes the students’ performance
in question 9.
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Figure 9: The Percentages of the Students’ Performance in
question 9

The data analysis reveals that 797 (51.1%) students had good
performance as they scored from 8 to 10 marks. These students
were able to re-arrange the given sentence correctly. They
organized them into a meaningful paragraph. These students had
sufficient vocabulary which helped them to understand the
meaning of the given sentences. Extract 9.1 is a sample of the
student’s correct response to question 9.

A%
1 2 3 4 5 6
F
D B C A E
Extract 9.1: A sample of the student’s correct responses to

question 9.

In Extract 9.1 the student re-arranged correctly all the items.

Furthermore, the analysis of data shows that 349 (22.5%)
students had an average performance as they scored from 4 to 6
marks. These students were able to re-arrange some sentences
correctly but failed in others. Most of the students re-arranged
correctly items 2 and 3 but failed in item 4, 5 and 6. Sentence
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A and C required the students to know the uses of +. (also) and
E demanded the students to conclude the information of
sentences A and C. This shows that the students had partial
knowledge about organizing ideas of the given sentences as well
as grammatical pattern and vocabulary. Extract 9.2 is a sample
of responses to question 9 from a student who performed this
question averagely.

—

3

4

5

6

b

£

C

A

Extract 9.2: A sample of responses from a student with an average
performance in question 9.

In Extract 9.2, the student re-arranged correctly items 2 and 3
but failed in items 4, 5 and 6.

Further data analysis shows that 415 (26.6%) students had weak
performance as they score from 0 to 2 marks. These students
failed to re-arrange sentences because they did not understand
the meaning of the sentences. Some of them failed to identify
the relations among sentences. Other students failed to identify
the sequence of sentences A&E and B&C. Sentences B&C
required the student to identify what the writer like and does not
like while A&E required the students to connect the information
of B&C and conclude with sentence E. This implies that the
students had partial knowledge of organizing information.
Extract 9.3 is a sample of the student’s incorrect responses to
question 9.

A%

1 2 3 4 5 6

F

E b b ¢ A

Extract 9.3: A sample of the student’s incorrect responses to
question 9.
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In Extract 9.3, the student re-arranged incorrectly all the items.

2.3 Section C: Writing a Composition
2.3.1 Question 10: Writing a Composition

This question comprised 5 guiding questions set from the topic
of Time. The students were required to use them to write a
composition in Chinese characters. The question examined the
students’ ability to use simple Chinese sentences to describe
weather. The question was as follows:

. FRFE PR 253 TR F 55— B i8S .
Yi nidn you ji g: i€ jiao shénme 7

1. — B O JLA-FF? v i oA 7

NI zui %1 huan shénnwe  Jijie 7

2. & E K M A F=TN?

' N ge ji jié¢ shi zul I&ng de 7
3. R A~ F OE 5% 4 49 7

™A ge Jijie¢ changchdng xiayil 7

4. AR A-FF O E W F @ ?

Na shénme jijié¢ ni x¥ huan qi waimian wanr 7

5. A A A F VARG xk S - dm mIL?

A total of 1,561 (100%) students attempted the question, out of
whom 5 (0.3%) students scored from 10 to 15 marks which is a
good performance, 32 (2.1%) students scored from 4.5 to 9.5
marks which is an average performance, and 1,524 (97.6%)
students scored from 0 to 4.0 marks which is a weak
performance. The general performance in this question was
weak, since only 37 (2.4%) students scored 30% or above.
Figure 10 summarizes the students’ performance in question 10.
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Figure 10: The Percentages of the Students’ Performance in question
10

The data analysis shows that 1,524 (97.6%) students performed
weakly by scoring from 0 to 4.0 marks. Most of the students did
not understand the requirement of the question. Some of them
copied some words from other questions in the question paper
and others wrote incomprehensible sentences. Few of them
responded by using pinyin which resulted into incomprehensible
sentences. There were some students who left the blanks
unfilled. This reveals that the students failed to compose a
composition. Extract 10.1 is a sample of the student’s incorrect
responses to question 10.
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........................................................
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Extract 10.2: A sample of the student’s incorrect responses to
question 10.

In Extract 10.2, the student wrote an unrelated Chinese word
which was contrary to the demand of the question.

Further data analysis indicates that 5 (0.3%) students had good
performance because they scored from 7 to 10 marks. These
students wrote good compositions in Chinese characters because
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they had sufficient vocabulary which enabled them to express
themselves in Chinese. This reveals that they also mastered the
Chinese Language Characters and sentence structure. However,
the students failed to score full marks because their responses
contained few errors. Extract 10.2 is a sample of the student’s
relatively correct responses to question 10.

&%
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..............................................................................................

Extract 10.2: A sample of the student’s relatively correct
responses to question 10

In Extract 10.2, the student wrote a good composition by using
Chinese characters.

STUDENTS’ PERFORMANCE IN DIFFERENT TOPICS

The analysis of the students’ performance in the topics which were assessed
in Chinese Language subject for the year 2022 indicates that the performance
was good in two topics and weak in one topic. There was no any topic with
an average performance. The summary is shown in the Appendix.

The topic which was performed well is Vocabulary Use. The good performance
in this topic denotes that, the students had sufficient knowledge, skills, and
competence in Chinese structure grammar and ability to answer the questions
according to the requirements of the question.

The students performed weakly in the topic of Writing a Composition. The weak
performance was attributed to the students’ insufficient vocabulary. The analysis
of the students’ responses shows that they failed to express themselves by using
Chinese characters.
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CONCLUSION

The students’ performance in the Form Two National Assessment in Chinese
Language for the year 2022 was good because 89.8 per cent of the students
passed. There are questions which were performed well and one of them was
question 1 on which 99.1 per cent of the candidates passed. Further analysis
shows that there were students who had weak performance in question 10.
These students had insufficient vocabulary which hindered them from
expressing themselves in the Chinese Language. They also had insufficient
knowledge and skills pertaining to the topics tested. Additionally, they were
unable to apply the Chinese grammatical rules and principles. For example,
the topic of composition (question 10) was weakly performed as 97.6 per cent
of students failed. This was due to the fact that the students had insufficient
vocabulary and knowledge about writing Chinese characters.

RECOMMENDATIONS

In order to improve the students' performance in the Chinese Language
subject, it is recommended that:

(@) Teachers should guide students on how to write compositions by
giving them pictures, time table, cards, maps and simple titles.

(b) Teachers should encourage students to read more passages for better
improvement of their vocabulary and grammar by giving them simple
texts.

(c) Teachers should guide students on how to write pinyin especially the
tone marking rule, initials, finals and syllables by giving them more
writing exercises.

(d) Teachers should guide students on how to write basic strokes while
writing Chinese characters by giving them more writing exercises.
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APPENDIX: Summary of the Students’ Performance per Topic in Chinese
Language Assessment - FTNA 2022

Percentage of Percentage of

Question | Students who Students who

Number | Passed in Each | Passed in Each
Question Topic

SIN Topic Remarks

55






